DETAILS OF INFRASTRUCTURE & INSTRUCTIONAL FACILITIES

Area of the land in possession (in sq. mts.) : 4048.330

Built up area earmarked for the programm (in

sq. mts.) : 4008.007

Whether the building constructed / proposed to

be constructed on the same land. : Yes

Date of completion of construction of the building. : 31/07/2015

Name of the competent authority for approval of

building plan and issue of completion certificate : PRODHAN

Address of the competent authority for approval : ALIHANDA GRAM PANCHAYAT

of building plan and issue of completion certificate : PO- HATINDA, PS- CHANCHAL, DIST- MALDA,

(W.B) PIN - 732123

Total Built up Area (in sq. meter) : 4008.007

Total Built up Area (in sq.ft.) : 43126.157

Description	Room No.	Length in meter	Breadth in meter	Carpet area in sq. meter	Photograph
Principal Room	1	5.875	5.000	29.375	
Administrative Office	1	4.275	4.250	18.168	COUNTERNALE
Staff Room for B.Ed.	1	5.875	5.000	29.375	

Class Room	1	10.125	5.875	59.484	Change Canality
Class Room	2	10.125	5.875	59.484	
Class Room	3	8.925	6.950	62.028	
Class Room	4	8.925	7.200	64.260	
H.O.D Room	1	5.875	5.000	29.375	
Administrative Office	1	4.275	3.800	16.245	COUNTER TREASE
Staff Room for D.El.Ed.	1	5.875	5.000	29.375	

Class Room	1	10.125	5.875	59.484	
Class Room	2	10.125	5.875	59.484	
Class Room	3	10.125	5.875	59.484	
Class Room	4	10.125	5.875	59.484	
Multipurpose Hall	1	17.874	10.850	193.932	
Seminar room / Tutorial room	1	19.050	5.025	95.726	
Library	1	13.974	10.345	144.561	
Library	2	10.850	9.342	101.360	
Store Room	1	5.025	3.675	18.466	
Store Room	2	5.875	4.275	25.115	

Sports Store Room	1	9.225	8.400	77.490	
Girls Common Room	1	11.150	5.025	56.028	
Boys Common Room	1	12.175	5.025	61.179	
Art & Crafts Room	1	8.250	4.275	35.268	
Music Room	1	8.125	4.275	34.734	
Science Lab1	1	23.450	5.025	117.836	
Psychology Lab	1	8.250	4.275	35.268	

Educational Technology (ET) / ICT Lab	1	8.250	4.275	35.268	
Management Office	2	8.125	4.275	34.734	
Interaction Room	3	6.750	5.025	33.918	
Reception-cum Visitors Area	4	8.375	5.025	42.084	
Computer-cum- Language Lab	5	7.600	3.650	27.740	
Toilets (Male)	1	5.287	3.145	16.627	
Toilets (Male)	2	5.287	3.145	16.627	
Toilets (Male)	3	5.287	3.145	16.627	
Toilets (Male)	4	5.287	3.145	16.627	

Toilets (Female)	1	5.287	3.145	16.627	
Toilets (Female)	2	5.287	3.145	16.627	
Toilets (Female)	3	5.287	3.145	16.627	
Toilets (Female)	4	5.287	3.145	16.627	
Canteen	1	20.275	3.950	80.086	
Parking Area	2	24.850	4.075	101.263	
Multipurpose Playgrounds	1	47.866	37.825	1810.531	
Drinking Water	-	-	-	-	State In the state of the state
Biometric Attendance for Faculties	-	-	-	-	Le

Biometric Attendance for B.Ed. Trainees	-	-	-	-	MESTAB
Biometric Attendance for D.El.Ed. Trainees	-	-	-	-	MESTAB
Generator	-	-	-	-	S Acee